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NOTA DE AULA DE MATEMÁTICA 113 
 

LIVRO 3 – MÓDULO 9 – ADIÇÃO E SUBTRAÇÃO DE ARCOS: 
 
 
sen (a ± b) = sen a . cos b ± sen b . cos a 
 
cos (a ± b) = cos a . cos b ∓ sen a . sen b 
 

tg (a ± b) = 
𝒕𝒈 𝒂 ± 𝒕𝒈 𝒃

𝟏 ∓ 𝒕𝒈 𝒂 .  𝒕𝒈𝒃
 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 

sen 17º . cos 13º + cos 17º . sen 13º + cos 73º . cos 17º - sen 73º . sen 17º + 
𝒕𝒈 𝟑𝟏ºା𝒕𝒈 𝟏𝟒º

𝟏ି𝒕𝒈 𝟑𝟏º.𝒕𝒈𝟏𝟒º
 

 
sen (17º + 13º ) + cos (73º + 17º ) + tg (31º + 14º) 
 
sen 30º + cos 90º + tg 45º  
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𝟐
+ 𝟎 + 𝟏 =  

𝟏 + 𝟐

𝟐
=  

𝟑

𝟐
 

 
 

 



 

 
cos 50º = cos (5º + 45º) 
 
cos (5º + 45º) = cos 5º . cos 45º - sen 5º . sen 45º  
 

cos (5º + 45º) =
 √𝟔𝟐𝟏

𝟐𝟓
 . √𝟐

𝟐
−  

𝟐

𝟐𝟓
 .

√𝟐

𝟐
 

 
 

cos (50º) = √𝟐

𝟓𝟎
 . (√𝟔𝟐𝟏 – 2) 

 
 
 
 
sen2 5º + cos2 5º = 1 

൬
𝟐

𝟐𝟓
൰

𝟐

+ 𝒄𝒐𝒔𝟐𝟓º = 𝟏 

𝒄𝒐𝒔𝟐𝟓º = 𝟏 −  
𝟒

𝟔𝟐𝟓
 

𝒄𝒐𝒔𝟐𝟓º =  
𝟔𝟐𝟓 − 𝟒

𝟔𝟐𝟓
 

𝒄𝒐𝒔𝟐𝟓º =  
𝟔𝟐𝟏

𝟔𝟐𝟓
 

Cos 5º = √𝟔𝟐𝟏

𝟐𝟓
 

 
 
 
 
 

tg ( 135º + 240º ) = 
𝒕𝒈 𝟏𝟑𝟓ºା 𝒕𝒈 𝟐𝟒𝟎º

𝟏ି 𝒕𝒈 𝟏𝟑𝟓º .  𝒕𝒈𝟐𝟒𝟎º
 

 
 
 
 
 
 
tg 135º = (-1) 
 
tg 240º = √𝟑 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 

 = 135º  

 = 240º  



 

 
 
 
 
 
 
 
 
 
 
 

2.sen( - 60º) = cos(+60º) 
2.[sen.cos60º - sen60º.cos] =cos.cos60º - sen.sen60º 

2. [sen.
𝟏

𝟐
 - √𝟑

𝟐
.cos] = cos.

𝟏

𝟐
 - sen. √𝟑

𝟐
 

sen - √𝟑 cos = cos.
𝟏

𝟐
 - sen. √𝟑

𝟐
 

 

sen+ sen. √𝟑

𝟐
 = cos.

𝟏

𝟐
 + √𝟑 cos 

 
 

sen(1 +  √𝟑

𝟐
 ) = cos (

𝟏

𝟐
 + √𝟑 ) 

 

sen = cos . 
𝟏

𝟐
 ା √𝟑

𝟏 ା  
√𝟑

𝟐

 

 
 
 
 
 
 
 
 

 
 
 


